



Vendor Ranking

Page 1 of 1

Letting: 05221206 December 06, 2022 2:00 PM **Call Order**: 011 **Contract**: E5X60-R0

District: District 5 Counties: BREVARD Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS

Project(s): 41993917207 (*)

Contract Desc: Stormwater System Repair

Ran	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	MAER HOMES, LLC	Responsive	Winning bid	\$499,990.00	100.00%
2	NATIONAL WATER MAIN CLEANING CO	Responsive	Non-Winning Bid	\$501,940.00	100.39%
3	FLOTECH ENVIRONMENTAL LLC	Responsive	Non-Winning Bid	\$573,006.00	114.60%
4	SHENANDOAH GENERAL CONSTRUCTION, LLC	Responsive	Non-Winning Bid	\$589,340.00	117.87%
5	USA SERVICES OF FLORIDA, LLC	Responsive	Non-Winning Bid	\$1,468,258.40	293.66%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.





Tabulation of Bids

Page 1 of 6

Letting: 05221206 December 06, 2022 **Call Order:** 011 **Contract:** E5X60-R0

District: District 5 Counties: BREVARD Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS

Project(s): 41993917207 (*)

Contract Descr: Stormwater System Repair

FDOT District: 5

Proposal ID No.: E5X60

Financial Project No.: 419939-1-72-07 Counties: Brevard, Orange & Volusia

Calendar Days: 365

This is a Maintenance Work Document driven Contract with a Budgetary Ceiling of \$380,000. This Contract includes an option for renewal.

Intent:

The work under this Contract consists of drainage structure cleaning & repair, and stormwater pipe desilting, video, and lining on Department maintained roadways on an as-needed basis.

Note:

The quantities shown on the Bid Price Proposal are approximate and only represent estimated planned requirements based on historical or specific project needs. The Department does not guarantee any maximum or minimum quantity, any range of quantities, or the exact quantities shown for each bid item. The Departments estimated quantities and the Contractors bid price will be used to calculate a total bid amount. This total bid amount will then be used to determine the low bidder; however, actual payment under the awarded contract will be based on actual quantities completed. For this Contract in which specific sites are not identified at the time of letting, the Engineer will issue a Work Document. Work Documents will identify the location, description, amount of work to be accomplished, and the number of calendar days to complete the work.

Experience:

For this Contract the Contractor is required to have at least three (3) years of experience in the performance of Drainage Repair, or the Project Superintendent must have at least three (3) years of like experience as a Superintendent. A Contractor that presently has a certificate of prequalification with the Department in "Drainage" will suffice to meet the above requirements.

Line No / Item ID Alterna Item Description	te Quantity Units	(1) MAER H	OMES, LLC	(2) NATIONAL CLEANI		` '	OTECH MENTAL LLC
() indicates item is bid as Lump Sun	1	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	(CLEAN DRAII	NAGE STRUCTUR	ES (LF				
0005 E425 73 1 CLEANING MANHOLES AND INLE (MECHANICAL)	1,644.000 TS EA	35.00000	57,540.00	10.00000	16,440.00	124.00000	203,856.00



Page 2 of 6

Florida Department of Transportation



Tabulation of Bids

Letting: 05221206 December 06, 2022 **Call Order:** 011 **Contract:** E5X60-R0

Letting: 0	5221206 [December 06,	2022 Ca l	I Order: 011		Contract:	E5X60-R0	
Line No / Item ID Item Description	Alternate	Quantity Units	(1) MAER H	OMES, LLC	(2) NATIONAL CLEANI			OTECH IENTAL LLC
() indicates item is bi	id as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION:	0001	(CLEAN DRAIN	AGE STRUCTUR	ES (LF				
0010 E425 73 2 REPAIR LEAKS IN MAINLETS	ANHOLES AND	20.000 EA	2,500.00000	50,000.00	750.00000	15,000.00	1,600.00000	32,000.00
0015 E430 94 1 DESILT PIPE, 0 to 24	п	2,000.000 LF	10.00000	20,000.00	7.00000	14,000.00	5.00000	10,000.00
0020 E430 94 2 DESILT PIPE, 25-36"		2,000.000 LF	12.00000	24,000.00	12.00000	24,000.00	4.00000	8,000.00
0025 E430 94 3 DESILT PIPE, 37-48"		2,000.000 LF	14.00000	28,000.00	16.00000	32,000.00	4.00000	8,000.00
0030 E430 94 4 DESILT PIPE, 49-60"		100.000 LF	40.00000	4,000.00	23.00000	2,300.00	16.00000	1,600.00
0035 E430 94 5 DESILT PIPE, 61" OR	GREATER	100.000 LF	45.00000	4,500.00	28.00000	2,800.00	18.00000	1,800.00
0040 E431 1 21 PIPE LINER, CURED	IN PLACE, 0-24	600.000 " LF	125.00000	75,000.00	125.00000	75,000.00	130.00000	78,000.00
0045 E431 1 22 PIPE LINER, CURED	IN PLACE, 25-3	120.000 6" LF	225.00000	27,000.00	233.00000	27,960.00	240.00000	28,800.00
0050 E431 1 23 PIPE LINER, CURED	IN PLACE, 37-4	120.000 8" LF	325.00000	39,000.00	381.00000	45,720.00	335.00000	40,200.00





Tabulation of Bids

Page 3 of 6

Letting:	05221206 D	ecember 06,	2022 Cal	l Order: 011		Contract:	E5X60-R0	
Line No / Item Item Description		Quantity Units	(1) MAER HO	OMES, LLC	(2) NATIONAL CLEANI		. ,	OTECH IENTAL LLC
() indicates item	is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N: 0001 (CLEAN DRAIN	IAGE STRUCTUR	ES (LF				
0055 E431 1 2 PIPE LINER, CUR	4 ED IN PLACE, 49-60	120.000)" LF	525.00000	63,000.00	615.00000	73,800.00	500.00000	60,000.00
0060 E431 1 2 PIPE LINER, CUR GREATER	25 ED IN PLACE, 61" A	120.000 ND LF	775.00000	93,000.00	866.00000	103,920.00	600.00000	72,000.00
0065 E432 4 STORM SEWER II CAMERA)	NSPECTION (VIDEC	23,000.000 LF	0.65000	14,950.00	3.00000	69,000.00	1.25000	28,750.00
	AN DRAINAGE Sec UCTURES (LF)	ction Totals:		\$499,990.00		\$501,940.00	l	\$573,006.00
	Contract Gra	nd Totals:		\$499,990.00		\$501,940.00		573,006.00



Page 4 of 6

Florida Department of Transportation



Tabulation of Bids

Letting	g: 05	5221206	December 06,	2022 Ca	II Order: 011		Contract:	E5X60-R0	
	No / Item ID Description	Alternat	e Quantity Units	(4) SHENANDO CONSTRUC		(5) USA SEI FLORID			
() ina	dicates item is bi	d as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	(CLEAN DRAIN	NAGE STRUCTUR	RES (LF				
0005 CLEANI (MECHA		ES AND INLET	1,644.000 S EA	35.00000	57,540.00	600.00000	986,400.00		
0010 REPAIR INLETS		ANHOLES ANI	20.000 D EA	2,500.00000	50,000.00	600.00000	12,000.00		
0015 DESILT	E430 94 1 PIPE, 0 to 24"		2,000.000 LF	7.00000	14,000.00	3.00000	6,000.00		
0020 DESILT	E430 94 2 PIPE, 25-36"		2,000.000 LF	13.00000	26,000.00	4.00000	8,000.00		
0025 DESILT	E430 94 3 PIPE, 37-48"		2,000.000 LF	15.00000	30,000.00	5.00000	10,000.00		
0030 DESILT	E430 94 4 PIPE, 49-60"		100.000 LF	23.00000	2,300.00	6.00000	600.00		
0035 DESILT	E430 94 5 PIPE, 61" OR	GREATER	100.000 LF	61.00000	6,100.00	7.00000	700.00		
0040 PIPE LIN	E431 121 NER, CURED	IN PLACE, 0-2	600.000 4" LF	125.00000	75,000.00	157.33000	94,398.00		
0045 PIPE LIN	E431 1 22 NER, CURED	IN PLACE, 25-	120.000 36" LF	175.00000	21,000.00	274.67000	32,960.40		





Tabulation of Bids

Page 5 of 6

Letting	g: O	5221206	December 06,	2022 Cal	I Order: 011		Contract:	E5X60-R0	
	No / Item ID Description	Alternat	e Quantity Units	(4) SHENANDO CONSTRUC		(5) USA SEF FLORID			
	•	oid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	(CLEAN DRAIN	IAGE STRUCTUR	ES (LF				
0050 PIPE LIN	E431 1 23 NER, CURED	IN PLACE, 37-	120.000 -48" LF	255.00000	30,600.00	500.00000	60,000.00		
0055 PIPE LIN	E431 1 24 NER, CURED	IN PLACE, 49-	120.000 -60" LF	565.00000	67,800.00	693.33000	83,199.60		
0060 PIPE LIN GREATE		IN PLACE, 61'	120.000 AND LF	1,550.00000	186,000.00	1,066.67000	128,000.40		
0065 STORM CAMER		PECTION (VID	23,000.000 EO LF	1.00000	23,000.00	2.00000	46,000.00		
		I DRAINAGE S CTURES (LF)	Section Totals:		\$589,340.00 [']		\$1,468,258.40 [']		

Contract Grand Totals:	\$589,340.00	\$1,468,258.40
	, ,	. , ,



12/19/2022

Tabulation of Bids

Page 6 of 6

Letting: 05221206

December 06, 2022

Call Order: 011

Contract:

E5X60-R0

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.